2 Exponents and Radicals Dec 2019 (No Calculators)

e =
3 pts 1. Simplify:
P tmplify 75-98
Ans.
4 pts 2. Find x giventhat 84 . 4% =512,
Ans.

3x-5

5 pts 3. If 3°717.9255 2 27219 fi14 the value(s) of 42¥-5.

Ans.

Exponents and Radicals

3 o3\ (o4 4
1 1/63'354 - \/(2 P | J22.32.52.72 = 2.3.5.7 =210.

"\75.98 (3-5):

2. 8% . 4*=512> 212.225 229 Thus12+2x=9,2x =-3, so x = -3/2.

Ans. 210

Ans. -3/2

3. 37179265 973219 3 3521734510 _ 335257 s x2 . 17+ 4x— 10 = 3x2 - 57 D

0=2x2-4x-30> x2-2x-15=0=> (x—5)(x+3)=0. Sox=5or-3.

3x-5 3(5)-5 5 3(-3)-5

Ans.32 or 432



2 Exponents and Radicals Dec 2018 (No Calculators)
3pts 1. If 35°-156.217 = 39.56.7¢ finda+ b +c. Ans.

4 pts 2. 5206 written in scientific notation is 5.206 x 103. When 524.219 is written in

scientific notation, it takes on the form a.bc x 104, when rounded to two decimal places. Find
thesuma+b+c+d.

Ans,
S pts 3. Express —= in simplest radical form.
p press. 3625 p
Ans,
‘ - Exponents and Radicals
1. 35°.15%.217 = 55.75.36.56.77.37 = §11 72 38 11 4194 13 = 36. Ans. 36

24 A19__
2. 5%4.219= 55.519.919 — 55 (19 =3125x 10" =3.13 x 102, 3+1+3+22 =29, Ans. 29

@K 1w
c =2 = 5532 6157 _ (TT5) 1-.\/§=\/§ 15
3625 5% > 3 15514 145 5 Ans. g




-2 Exponents and Radicals Dec 2017 (No Calculators)

3 pts 1. For what value of  does

Ans.
4 pts 2. Simplify: 1- L + 1
1+v3 1-43
Ans,
2 *
Spts3. If (r+—i—j = 5, find'the value of r3+i3.
4
Ans.
Exponents and Radicals
3 %% .
1. JESJZ 22 =P =" son=-11/6 . Ans. -11/6
1 1 1 1~ J_ 1 1+43 \/_ 1+3 2\/_
2. 1- + 21 - 2>1- 2 =1+ 22
1+43 1-43 1445 1-5 | 1-V3 1+43 3t S
1-43. Ans.1- 3

2
3. (r+lj =5,s0(1): r+ 1o +/5 and (2): r2+2+i2 =50r -1+ =2
T r r r

r3+%=[;+i](r PRl J—i«/S_(2) £ 25 .. Ans. + 2,5



2  Exponents and Radicals

5

3pts 1. Finda + 5, if m is not zero, given that (m3 )20 =m

Ans,

Dec 2016-2017 (No Calculators)

4
and m®. ;25 .4 _ 1

625

4 pts 2. Solve for x: (ﬂ)x_z _(125 2
27 : Ans.

S pts 3. Find the greatest real solution to the equation 3)?8 +5x4=2

Ans.

Exponents and Radicals

1. 6a=54,50a=9. 7b=28,s0b=4. 9+4 =13,

5

81 x—2 125 5-2x 3 4(x-2) 3 +3(5-2x)
C(BLY (125 3 (3 4x—8=-15+6xD> 2x=17.
2 (625] (27J -)U (5) 4x—8=-15+6x > 2x="7

3. 3x8G5x*-2=0> (3x4—1)(x4-+.2)=0. Only 3x*-1=0, s0 x =%orx= :

27

Ans. 13

Ans. 7/2

/27

Ans.



2 Exponents and Radicals Dec 2015 (No Calculators)

2

3 pts 1. Find the positive value of N, so that (\/5 )N =256.

Ans.
23 13
4pts2. If 729¢ = x and x =274, find A.
Ans.
5 pts 3. Find the value of &, such that 100* = k(200)'*.
| Ans.

Exponents and Radicals

2 t 2
I (2) =256 =>2"" =2* I N* =16 I N=4. Ans. 4
2 B = 1S L 23 230
2. 7296 = x0 =p (30)8 =270 = 3% = (FH° D23 D> 23:%‘4 > A= jgo. Ans. =0
ol .

100100 )
3. 100200 :k(ZOO)IOO 9 (100100)2 =k(2100)100 9 (100100>=k(2)(00 9 __E_IW_=K = 50100 . Ans' DOIOO



2 Exponents and Radicals Dec 2014 (No Calculators)

3 pts 1. Express 416° in simplest form.
Ans.

4pts2. a” b/ .c% = ¥a¥p'c? . Find the number which is the sum of N +X + Y + Z.

Ans.

5 pts 3. Find all real values of x such that +5x+4 -2 = 3x-2.

Ans.

Exponents and Radicals

6,
L. 416° =(24)% =26 =44, Ans. 64

3. o h B = e e M = g 60+40+15+84 = 199 Ans. 199
3. JSx+4 - Bx-2 =2, Squaring: 5x +4 - 2415x* +2x -8 +3x—2 =4,

-\/15x3‘+2x—8 =4x—1. Squaring: 15x* +2x - 8=16x2 -8x+1=> 0=x? - 10x+ 9.
Factoring: (x —9)(x - 1)=0. x=9 or 1. Ans. 9 or 1



2 Exponents and Radicals Dec 2013 (No Calculators)

3pts 1. If 98.275.81* =37 find x.

Ans.
4 pts 2. Solve the following equation for x:
-1 L ix-l
ERISEE;
4 16
Ans.
5 pts 3. What does V'IG + -\,-":6 +/6+6+ equal?
Ans.

Exponents and Radicals
Lo 9%27.81% = (32 (3] .(3* ) =373 .36 =39 =37, S0 x =43 Ans. 43

N1 L
2. GJ . 8" = (1_15)2 32223 =22 335 1=2x+4>5x=5 Ans.1

S
3. Letx=16+16+6+v6+ - ,thenx=+6+x D x2=6+xDx -x—-6=0.

Factoring: (x —3)(x +2)=0. x cannot =-2. So x = 3. Ans. 3



2 Exponents and Radicals Dec 2012 (No calculators)

p—e e — =

3 pts 1. Simplify: 8x”y’

3!
\I' 212
Ans- )

[60 3 17 51 5

4 pts 2. Express in simplest form: |—-—.2-. 2.

V7 68 4 19 84

Ans.

5 pts 3. Find all values of x such that: Joxi5-fox—2 =1 \

Ans.-

Exponents and Radicals

: 8’515;9— _ 2y 2x°y

! Vo Ans z*

5 [60 Zal7 SLS _;(z.zz)(z.@_](u) L3S0 1B gy 1908
V7 68 4 19 84 \|\4 68A7 BAAID 4 7V19 1 532 532

3. Squaring both sides of J6x+5-+0x-2 =1:15x+3-2 J54x? +33x-10 =1 >

2 J54x? +33x-10 = 15x + 2. Squaring again: 4(54x> +33x~ 10) = 225x* + 60x + 4 2
216x? + 132x — 40 =225x> +60x +4 S 0x? - T2x + 44=0o0r 3x—2)(3x—22) = 0.
So x = 2/3 or 22/3. Plugging 22/3 into the original equation produces 7 —8 =1, which is
not correct. Plugging in 2/3 produces 3 —2 =1, which is correct. Ans. 2/3

x 2. Dnalxzxnne.



2. Exponents and Radicals Dec 2011 (No Calculators)

aSb—3. a—SbS
PP find the value of p + 4.

3ptsl. If a?b? =
Ans.

_12%.15%.20°

4 pts 2. Find the positive number x, such that x° 5

Ans.

5 pts 3. Solve for x among the real numbers: 44 4% -2=0.

Ans.
3 3 Exponents and Radicals
1’ apbq _ a b . a' b8 _ aSalO bSbZ aleIU aG
BRg0 i W'W = bTag‘ = g = ah”’, Ans. 1
3 3 3 3 A
2. x¢=127°157-20° _ (27 2°-3)3°.5%)20%) _ , .
123 = =2°.3°.20° So x =120, Ans. 120

3. = 42 2 — A dx

(I)Ele-’fiz o ('o)TfiiafIM Jandfmsal -a=2=0 or (a=2)a+1)=0. Thus

number. . n( )~ =2 ,804x =1 orx = V. (2) will produce an unreal
Ans. Y4



2 Exponents and Radicals (No Calculators) Dec 2010

3 pts 1. Simplify: 33672
Ans.

I

4 pts 2. Find all values of x such that

Jx+12 _ A33-x

Vx+4 x+7 i

AI}S.

Spts 3. If 4 —4*"' =24, find the exact value of (2x)~.

Ans.

Exponents.and Radicals
1. /3672 = 1/36(102) = /36-6-17 = 6317

Ans. 6317

i

o, YEH12 _V33-x 3 i: 19y 4 84=x? +20+132 D 2x? - 10x — 48 =x* - 5x—24.
_ Jx+4 \/x+7
x-8)(x+3)=0. Sox=8or-3. Anms. 8 or-3

2% =32=2°. x=5/2. (2x)" = (5)* =2545. Ans. 2545

7y . 2 1 2x 3 2X
3. 4% —4% 204w 22X 250 S o4 =P 22X 2P _0g WP —Z(z--’* }=24 2 -1(2 =24



2 Exponents and Radicals

3 pts 1. Solve the following for x:

Dec 09 (Ne Calculators)

Ans.
. 30 .02, 53
4 pts 2. Simplify: (73)
3-5-12
Ans.
= e 1+4/2
5 pts 3. Express the following in simplest form: =
1-42
Ans.
Exponents and Radicals
1. 432/2=216=6". Sox=6 Ans. 6
R 3 % 2 \% -
o (32 S8 =(i—' = > Ans. 5/12
T 3512 3.5.4.12) (347} 12
1+472 1442 14240442 1+J§_1+24\/E+J§+\/:+:’v3-ﬁ+2 _
1—42 1+42 1-42 1442 -1
3+ 242+ 242+ 248 Ans. —3-242-22-248



